«3BE3/IHbIN YAC
MATEMATUKN>

Mrpa anAa 5 Knacca




1 - MarHMUK1H
2 - MaKapblyeB Bonpoc Ne1

3 - BuneHkmH H. 4.

4 - Noropenos A.B. KTo aBTOp yyebHuKa
5 - UBaHOB A.A «MaTemMaTtmka 5»?




) 23-1=23
) 1457:1=1

) 57:57=1
) 623-0=0

Bonpoc Ne2

Kakoe 13 JaHHbIX
YTBEPKAEHNM
JIOXKHOoe?



. a+b=b+a

.a+0=a
Bonpoc Ne3
3. a-a=0
) a-(b-c)=(a-b)-c [log KakMum Homepom
h HaxoAUTCA
. a+(b+c)=(b+c)+b coyeTaTesibHoe

CBOMCTBO CJZIOXKEHMA?




Bonpoc Ne4

Kak B pMMCKOM
HYMEpOoJ10rnu
3anmcbiBaeTCs
yucno 18?
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MY3blKAJIbHAA
[MTAY3A
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[lepea BaMM 3aKpbIT
anpasnt. OTKpbIB
no6ble 11 6yKB,
HaZ0 COCTaBMUTb
cnioBo. [lapay
KOTOpOM CyMMa BYKB
MEHbLLE BbIXOANUT U3
Urpbl.
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HATPAXJEHVE
3PUTE/IEN




JIorM4ecKme LienoYyku

Pacnonoxure-
KapTO4YKM C
Yynciamm B
nopsgke mx

PACMOJ/I0XKEHMS Ha

KOOpAMHATHOM

nyye.



Ky6

JIorM4yecKMe LienoYyku

KBagpart
Bce 3T purypsl

[MpAMOYrosibHUK YeTblpexyroJibHMKN?




1) Kocaa caxeHb

Jlornyeckue
LLEMOYKHU

2) JloKoTb

JTO BCE Mepb
A/INHbI?

3) BepcTa

e B
OTBeT: TabamMuka 0



UI'PA CO
3PUTENAMUA




CocTaBUTb KaK
MOXHO 60/ibLLe
CJIOB U3 CJ10Ba.....




CMACHKBO 3A
ATPY1ll,, Wial
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NoAroToB}
MPOBEJIA:

HUKAH/PC
VYUTE/Ib I




